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=x= = s
ge9ls YESE
H0ls ol

- _ — d =
CRN I S(EH) - MRAY - BYS 0] &k o4 e HlDE2
< 60,000
308 XXM SO A 260,000 0 260,000
= 200,000
< 60,000
01 IXNHHBNEES 260,000 0 260,000
OsEdgdSHdE 2 X& 260,000
= 200,000
< 60,000
skols2el X 949,529 1,193,835 A 244,306
J| 949,529
308 XXM SOIA 949,529 1,193,835 A 244,306
J| 949,529
01 AXHHBILEES 949,529 1,193,835 A 244 306
OsXol8ael X 949,529
J| 949,529
SESSHEA AL X S (MEALY) 115,000 116,000 A 1,000
308 MtXIEHMSOIH 115,000 116,000 A 1,000
01 HXNHHBHEES 115,000 116,000 A 1,000
OsEZSHIMN 2AMSXH 115,000
sENEs20S 243t 555,951 551,419 4,532
= 407,017
< 148,934
201 Let24] 8,000 8,000 0
01 At 22l 8,000 8,000 0
OsENEF20IS 822 MH 8,000
308 XtXIEHH SOl A 547,951 543,419 4,532
= 407,017
< 140,934
01 AXHHILEES 547,951 543,419 4,532
OsENEgs202 ARE & 2t X& 547,951
= 407,017
S 140,934
SEMEs20E AN AAS 3,645 3,645 0
201 Let249] 1,620 1,620 0
03 SAH2 S HI 1,620 1,620 0
OsEMEzd0is NEX A& 1,620
301 LEEXZ 2,025 2,025 0
09 HALAHIX &S 2,025 2,025 0
OsZHEs2d0s NN A& S&H 2,025
SEMEs20ts SO0t dAL XA 30,000 30,000 0
307 21201 A 30,000 30,000 0
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4= =73 SN SYFHD
Hu: gs ¥ESE
Sl MolsolYs CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
O=&d AsHEHZS &It 7,500
HsHE SIXXNE 2,007,600 1,449,500 558, 100
= 1,540,000
< 467,600
201 Let2d] 30,000 0 30,000
= 15,000
< 15,000
01 At 22l 30,000 0 30,000
OA=sHE RXXNY HEE S 20,000
= 10,000
< 10,000
OFsHE RIANA 10,000
2 5,000
< 5,000
308 XXM SO0 A 1,977,600 1,449,500 528,100
= 1,525,000
< 452,600
01 IXNSHHBNEES 1,977,600 1,449,500 528,100
OA=sHE NN (XNH) 1,977,600
= 1,525,000
< 452,600
SEIFHAMNE 68,744,238 64,671,592 4,072,646
= 4,320,800
s 60,045,000
< 4,378,438
SE08 MHlA & NN 11,238 11,292 AB4
= 6,800
= 4,438
201 2pre | 2,400 2,400 0
01 At 22l 2,400 2,400 0
Os0lZ0I8r AIMOHEHE 2,400
308 XX EHSOIA 8,838 8,892 A54
= 6,800
< 2,038
01 HIXNHHNBMNEELS 8,838 8,892 AB4
OsofEae DS 8.838
2 6,800
< 2,038
SESAA 2435 ALY 29,380,000 29,773,000 A 393,000
ras 29,380,000
403 MtXISHHE X201 E 29,380,000 29,773,000 A 393,000
s 29,380,000
01 X S22 = 29,380,000 29,773,000 A 393,000
OsESHA 243 A 29,380,000
s 29,380,000




4= sy= SN S
HE: Qs HESE
Sl SEFEOAMA (B9 ®R)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2

ANz A&Zs A 2,276,000 1,736,000 540,000
= 2,276,000

308 XXX SO0 A 2,276,000 1,736,000 540,000
s 2,276,000

01 AXSHBAELS 2,276,000 1,736,000 540,000
OAlZ d&23 AlY 2,276,000
s 2,276,000

SENEEEHAAS 12,740,000 9,310,000 3,430,000
s 12,740,000

403 UtXISHH S0l & 12,740,000 9,310,000 3,430,000
s 12,740,000

01 X SHMA=2EE 12,740,000 9,310,000 3,430,000
Os&Etgsg s AAMY 12,740,000
s 12,740,000

JI=MENEZ Y 15,649,000 14,828,000 821,000
s 15,649,000

403 Mt S E X201 E 15,649,000 14,828,000 821,000
s 15,649,000

01 X SHHMA2E X 15,649,000 14,828,000 821,000
OJdIzdaHExd 15,649,000
s 15,649,000

SERSANELE2E FHAFAY 270,000 175,000 95,000
= 270,000

403 UHXISHHSA=0l& 270,000 175,000 95,000
= 270,000

01 X ESHHMA=LE L 270,000 175,000 95,000
OsSEFFANLEES ZEXH AME 270,000
= 270,000

SEMMSE ALY 5,200,000 0 5,200,000
2 4,000,000
< 1,200,000

403 XSS A0l & 5,200,000 0 5,200,000
= 4,000,000
< 1,200,000

01 HIXSHMA2EE 5,200,000 0 5,200,000
OsZEMY =LA 5,200,000
= 4,000,000
< 1,200,000

SENY ST A 88,000 0 88,000
= 44,000
< 44,000

307 21201 A 88,000 0 88,000
2 44,000
< 44,000




s3= SN SYFHI
g YE=E
sEFF0HAMA (cho &)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
02 It M AHE L 88,000 0 88,000
OsSEMHY AT ALY 88,000
= 44,000
< 44,000
SEHOSY HAZ2 0 LI (MEAY) 130,000 410,000 A 280,000
308 XXIEtH S0l A 130,000 410,000 A 280,000
01 IXNHHBANEES 130,000 410,000 280,000
OHFA sZHOSE HAHEZ20E HEXA 130,000
=28 sAN =4 3,000,000 4,000,000 21,000,000
403 A X EHHS =0l A 3,000,000 4,000,000 A 1,000,000
01 X EHHMA=LE L 3,000,000 4,000,000 A 1,000,000
Os=8 sAl =4 3,000,000
sgesxNsd 25,138,241 2,856,701 22,281,540
= 154,500
< 24,983,741
S QICHT A 192,000 164,000 28,000
307 gl2tol & 192,000 164,000 28,000
04 DIZHHALALSE E X 192,000 164,000 28,000
Os=sgeltHgos A= 10,000
OfclsetE X200l ZHQ A 12,000
OsEECHY IIEs0tE AL 30,000
O=2=sll&X S HalIHA 10,000
Od=gel & sl Mzl 40,000
O=sgdgel d3sl &It 80,000
OMs2a sEAZE sotstial i 10,000
SEEE NS 122,386 122,386 0
308 XXM SO0 A 122,386 122,386 0
01 AXSGHBLELS 122,386 122,386 0
O=g3dgx =938 32 M3 105,689
O=sglles 32X M3 16,697
Sgol otMEH DY XA 329,640 261,345 68,295
308 XXIELHSOIA 329,640 261,345 68,295
01 AXHHILEES 329,640 261,345 68,295
Osgeol etdeEd I XA 329,640
s SAHXA 144,765 170,940 N26,175
308 XXl EHH SOl A 144,765 170,940 226,175
08 WSII20HetE = 144,765 170,940 N26,175
ONgsud SAH XA 144,765
HESHYQ H=HRHAY 2,076,550 1,877,600 198,950
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4= =73 SN SYFHD
Hu: gs ¥ESE
S9: sHSXEH CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| | Osoecty g & @A =& 8,000
NEESME |4 4,657,810 4,967,041 A 309,231
= 1,413,500
J| 22,976
= 3,221,334
=205 s¢t= 8ote &It 5,400 5,400 0
307 glz2+ol & 5,400 5,400 0
04 QIZFHALAIH E = 5,400 5,400 0
O&=28 stt= 8ote &It 5,400
SESHA 52,000 66,300 214,300
= 40,000
= 12,000
308 XtXIEHH SOl A 52,000 66,300 214,300
= 40,000
< 12,000
01 AXHHILEES 52,000 66,300 A 14,300
OsEZHMAE 52,000
= 40,000
< 12,000
sERSXE 175,500 174,200 1,300
= 135,000
< 40,500
308 AHXIEHSOIA 175,500 174,200 1,300
= 135,000
< 40,500
01 HIXNHHNBMNEES 175,500 174,200 1,300
OsExssX& 175,500
= 135,000
< 40,500
Z2ABHEAES ALY 26,010 22,141 3,869
J| 22,976
< 3,034
308 XXM SOl A 26,010 22,141 3,869
J| 22,976
< 3,034
01 AXHHBILEES 26,010 22,141 3,869
OZ &2 HAZHAY 26,010
J| 22,976
< 3,034
SEELSNANYH 2N 120,000 120,000 0
= 60,000
< 60,000
307 21201 A 120,000 120,000 0
= 60,000
< 60,000
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M ox
40 5 4

- _ _ RE]
2.2 FHB B EH) - NEAY - BES %Eﬁ HR=2
02 QI AAIE E X 120,000 120,000 0
Os=Z=24ds X34 A 120,000
= 60,000
o= 60,000
SEEAMY SA(MEAIY) 436,000 791,000 A 355,000
403 XX SHHS K20 & 436,000 791,000 A 355,000
01 XIS A2E X 436,000 791,000 A 355,000
QSENS 4 436,000
siE M- IJIE - K|S A KA(MEAIS) ,860,000 2,100,000 A 240,000
403 XX S M S X201 & ,860,000 2,100,000 A 240,000
01 XS A2E X ,860,000 2,100,000 A 240,000
Osd2 HEX -2 -2 AMEXE ,860,000
SESEEAMY LGNS , 157,000 1,168,000 A 11,000
= 578,500
= 578,500
307 2iz2to| & , 157,000 1,168,000 A 11,000
= 578,500
o=t 578,500
02 QI AAIE E X , 157,000 1,168,000 A 11,000
OsEs=2846d 843X , 157,000
= 578,500
= 578,500
SESSENMIXNF XM 776,400 520,000 256,400
= 600,000
& 176,400
403 XX SHHS K20 & 776,400 520,000 256,400
= 600,000
& 176,400
01 XIS A=2E X 776,400 520,000 256,400
OsEs8 &g A 776,400
= 600,000
== 176,400
SESSENMY oF5E X 18,000 0 18,000
308 MXISHMSOIA 18,000 0 18,000
01 AIXSHMENEXZ 18,000 0 18,000
OsE=sS8Haty o A& 18,000
SESSENY FMH 2 31,500 0 31,500
403 XX SHHS K20 & 31,500 0 31,500
01 XIS A2E X 31,500 0 31,500
OsEg=28eagy A 25t 31,500
SAAH (sLEHD}) 88,471 94,671 AN6,200
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A6,200

A6,200

3,400

3,400

A 3,400

23,400

H3r
Wikd
RIS

94,671

94,671

23,401
23,401

40,470

40,470

24,600
6,600

18,000

Off &t 24

88,471

88,471

26,801
26,801

13,326
13,475

37,070

37,070
37,070

24,600

6,600
6,600
18,000
4,200
4,200
3,000
3,600
3,000

30
0
ol
all

01 At 22l bl

0o
<+
B

202 o4 Hl

01 SLHOHI

OJ1=0dHl

KJ
KE
OF
ol

=]
Rl
RO
ol

=

<J
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E]
ar

10
O




= o
A & 0l & AF 2 E A A
WE 204 YN SHE ~ 5HI
AR =X M RIsLHD
M =9 WA L3
oo AEFSASH CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
FIl=s A 218,695,069 251,576,818 A 32,881,749
= 33,174,385
s 600,000
J| 148,441,249
< 36,479,435
=g e 25t 218,582,421 251,466,947 A 32,884,526
= 33,174,385
s 600,000
J| 148,441,249
< 36,366,787
HEd=sHsY 18,279,646 26,874,219 A 8,594,573
= 9,075,314
s 600,000
J| 1,443,200
< 7,161,132
Bz 2 1,443,200 1,443,200 0
J| 1,443,200
308 MtXIEHSOIH 1,443,200 1,443,200 0
J| 1,443,200
01 AXHHILEES 1,443,200 1,443,200 0
Otz =A 1,443,200
J| 1,443,200
dEdsy Jleg = 900,000 286,670 613,330
s 600,000
< 300,000
403 UHXSHHSA=0l& 900,000 286,670 613,330
s 600,000
< 300,000
01 HXSHMA2E X 900,000 286,670 613,330
Ozgd=g Jlgt = 900,000
s 600,000
< 300,000
SIEHE NA(HSAY) 1,465,490 9,892,263 AB,426,773
308 XXM SOl A 1,465,490 9,892,263 ANB,426,773
01 AXHHILEES 1,465,490 9,892,263 AB,426,773
ORJI&Edz X&A 1,465,490
FI=sSUM XA 149,501 209,821 260,320
= 103,104
= 46,397
308 MHXIEHMSOIH 149,501 209,821 260,320
= 103,104
< 46,397
01 HXNHHBHELS 149,501 209,821 A 60,320
FI=sSUM XA 149,501
= 103,104
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SEE T (sl &2)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
| < 46,397
RIS TS AHIAXNASHN =4 1,800,500 4,075,500 A2,275,000
= 1,385,000
< 415,500
403 Mt SHHSA=0l& 1,800,500 4,075,500 A2,275,000
= 1,385,000
< 415,500
01 HIXSHMA2E X 1,800,500 4,075,500 A2,275,000
ORJIIsttI=ESMEIA RS ZLEAY 1,800,500
= 1,385,000
< 415,500
SYEFEMEIZ2OH A Y 382,500 382,500 0
= 300,000
< 82,500
308 XXM SO0 A 382,500 382,500 0
= 300,000
= 82,500
01 IXNSHHBNEES 382,500 382,500 0
OsgdSdE2dZTZ2 08 ALY 382,500
= 300,000
< 82,500
YR S BSHE XA 1,248,000 2,642,269 A 1,394,269
= 960,000
< 288,000
308 MXIEHSOIH 1,248,000 2,642,269 A 1,394,269
= 960,000
< 288,000
01 HXNHHBHELS 1,248,000 2,642,269 A 1,394,269
LR ASASLE XA 1,248,000
= 960,000
= 288,000
detd 0| S K= 180,000 180,000 0
308 XX EHH SOl 180,000 180,000 0
01 HIXNHHNBHNEES 180,000 180,000 0
Ozed 240l s XA 180,000
Fllsgy d2J1=X 22 28,800 28,800 0
308 XXM SOl A 28,800 28,800 0
01 IXNHHBNEES 28,800 28,800 0
ORJlsd d2I=X B3 28,800
SIS AE ASHE X& 13,120 13,120 0
308 XXIEHH SOl A 13,120 13,120 0
01 AXHHILEES 13,120 13,120 0
ORIIIIBAE sHE X& 13,120
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M ox
40 5 4

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
201 ¢er24| 200,000 0 200,000
03 A2 Z Hl 200,000 0 200,000
OFEEE FIIsty 22 24 200,000

ELMEH = 3,705,399 4,685,377 A 979,978
= 3,012,210
< 693,189

308 XXM SOIA 3,705,399 4,685,377 A 979,978
= 3,012,210
< 693,189

01 AXHHBISEES 3,705,399 4,685,377 A 979,978
OE2LMEH EX 3,705,399
= 3,012,210
< 693, 189

ST 29 16,200 16,200 0

201 Let24d] 15,000 15,000 0

01 At 22l 15,000 15,000 0
Ot & ==ZHl 15,000

203 YR =&l 1,200 1,200 0

03 A Z=XH R =AY 1,200 1,200 0
ORIIsLRHAAH =2 1,200

AHHNESY 160,425,150 158,978,337 1,446,813
= 8,400,860
J| 142,246,930
< 9,777,360

g SAA=H 141,283,000 142,442,000 A 1,159,000
J| 141,283,000

308 XXM SO0l A 141,283,000 142,442,000 A 1,159,000
J| 141,283,000

01 IXNHHBNEES 141,283,000 142,442,000 A 1,159,000
OJled A =H 141,283,000
J| 141,283,000

=28Z(=012F)A=H 273,930 273,930 0
J| 273,930

308 XXIELHSOIA 273,930 273,930 0
J| 273,930

01 AXHHILEES 273,930 273,930 0
O=8& (=022 2H 273,930
J| 273,930

SANEN At 228 (%) 30,000 30,000 0
J| 30,000

201 £B-2dH| 20,000 20,000 0
J| 20,000




A= =833 2A  RIIssD
M=ol AWM L3
Sl AFNSSY (B9 ®R)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
01 At 22l bl 20,000 20,000 0
O3YUXMEH At 22| 20,000
J| 20,000
202 04| 10,000 10,000 0
Dl 10,000
01 2L Y| 10,000 10,000 0
O3sYdXMEM EXNXNEZ 10,000
Dl 10,000
2AXESH AP 22 (Al Z2) 660,000 656,000 4,000
Dl 660,000
308 AHXI S M SO0l & 660,000 656,000 4,000
Jl 660,000
01 AXHNBMNEXZ 660,000 656,000 4,000
OSAUAXNEM At 2tel 660,000
Dl 660,000
T X ADESY AYAMY(H2) 5,214,000 7,742,000 N 2,528,000
= 4,620,000
== 594,000
403 XX S M S X201 A 5,214,000 7,742,000 N 2,528,000
= 4,620,000
== 594,000
01 MHXSHHMAHEBE = 5,214,000 7,742,000 N 2,528,000
OLXl ANEsSY AIHAS(X2) 5,214,000
= 4,620,000
o= 594,000
LR ADGIESY AEAS(ZA) 650,000 650,000 0
= 500,000
o= 150,000
308 XX SHHSO0IA 650,000 650, 000 0
= 500,000
& 150,000
01 AIXHMBAEXZ 650,000 650, 000 0
OLXl AUESY AMYAIY (HA 650,000
= 500,000
== 150,000
Algxs ZSHIAH SH(AFECH2EH 973,960 0 973,960
= 749,200
& 224,760
403 XX S S K201 A 973,960 0 973,960
=2 749,200
& 224,760
01 HXHNMAHEBE = 973,960 0 973,960
OAdxzE s3I S5 (MgTH2EH 973,960
= 749,200
== 224,760
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40 5 4

AEEEEY CER-ED
224 ZB SN - HRAY - BES 0l &t o il Bl RE2
H 2ESXHU XN 672,016 746,685 AT4,669
308 AHAIEHHSOIA 672,016 746,685 AT4,669
01 HXNHHBHELS 672,016 746,685 AT4,669
Ol &3 XA 672,016
=g 2= dsM X 1,700,567 1,618,077 82,490
308 XX EHH SOl 1,700,567 1,618,077 82,490
01 HIXNHHNBNEES 1,700,567 1,618,077 82,490
O=sg 2+ M X 1,700,567
N3 H |2 44X - 22 222,250 193,200 29,050
403 MtXISHHE X201 & 222,250 193,200 29,050
01 XM A=2EE 222,250 193,200 29,050
OL13ZE H s2% &X -2 222,250
S0 MaeX s4 194,400 194,400 0
308 XX EHHSOIA 194,400 194,400 0
01 X HHIBLEXS 194,400 194,400 0
OBASH0| MAUTX S 194,400
AUz MIIs sHAEERXN B2 20,000 20,000 0
308 AHAIEHHSOIA 20,000 20,000 0
01 HIXNHHBMNELS 20,000 20,000 0
O#NAs s sPEEX ES 20,000
HEAs A KA 40,000 40,000 0
307 glz2tol & 40,000 40,000 0
04 QIZFHALAIH E = 40,000 40,000 0
OuNA=s HA XA 40,000
SEfMAs FH A= 7,500 7,500 0
307 21201 A 7,500 7,500 0
02 QB LAANHEX 7,500 7,500 0
OR+pFAS 2Y 7,500
CEY WS ME5I 4 X 360,000 400,000 40,000
308 XX EHH SOl A 360,000 400,000 A 40,000
01 HXNHHBHELS 360,000 400,000 A 40,000
O=E2d HyEA 8= 4 XA 360,000
IS MATHHY 228 UM 2 205,800 205,800 0
308 A EHHSOIA 205,800 205,800 0
01 HIXNHHBMNEELES 205,800 205,800 0
OLSEY MATHHY &3 N 222 205,800
SIIH A &~ &X 1,300,000 0 1,300,000




M ox
40 5 4

% - 4 14
SN P SAGEH) - HRAY e HlDE2
= 1,000,000
< 300,000
403 X SHHS =0l & 1,300,000 0 1,300,000
= 1,000,000
< 300,000
01 XM A2E X 1,300,000 0 1,300,000
OsJ1H LML X 1,300,000
= 1,000,000
< 300,000
AR 201 A8 XI& 260,000 0 260,000
= 200,000
< 60,000
403 XIS S X201 & 260,000 0 260,000
= 200,000
< 60,000
01 AXSHMA2E = 260,000 0 260,000
OF 4R 2D A sk X 260,000
= 200,000
< 60,000
sHIIH SEX 23 XA 121,800 240,700 A 118,900
= 84,000
< 37,800
308 A EHHSOIA 121,800 240,700 A 118,900
= 84,000
< 37,800
01 HXNHHNBHEES 121,800 240,700 A 118,900
OsgIIH SHEX 2 121,800
= 84,000
< 37,800
sJIHE ZH 22 300,000 300,000 0
403 MtXISHH S =01 & 300,000 300,000 0
01 AXISHHA=2E = 300,000 300,000 0
OZsJlAHs &ZH 222 300,000
oA e MHIAMEH 22 330,000 330,000 0
308 XXIEHHSOIA 330,000 330,000 0
01 AXHHILEES 330,000 330,000 0
Os&g e MulAsd 330,000
dEd SSFHYE)| 32 75,600 75,600 0
403 A X EHHS 201 A 75,600 75,600 0
01 X HHMA=2LE L 75,600 75,600 0
Ozgd s L))| 75,600
JIH s828 XA 381,144 321,300 59,844




CERA BB B (BH) - HEAY Ol &t o4 San Hl B E2
308 XXM SO0 A 381,144 59,844
01 AXNSGHBLAEES 381,144 59,844
O=JIH 828 NH 381,144
S otd AtE 22 ns XA 10,000 0
307 eIzl & 10,000 0
04 DI2FHALALSE 2 X 10,000 0
OsY & Atg2el W 10,000
2EAHXD| 52 67,500 0
403 XSS X201 & 67,500 0
01 X SHMA2E X 67,500 0
O=2=8d=x) =23 67,500
L2 AR sHIIH =] HXXS 1,168,700 1,168,700
= 899,000
< 269,700
403 Ut S EX201H 1,168,700 1,168,700
= 899,000
< 269,700
01 XXM A=2E = 1,168,700 1,168,700
OLs 38 sY9JIH XJ HXXA 1,168,700
= 899,000
< 269,700
SESJ1AH A XI& 390,000 390,000
= 300,000
< 90,000
403 XAXISHHM S K201 A 390,000 390,000
= 300,000
< 90,000
01 XM A=2E X 390,000 390,000
OLEFEsJIH A XA 390,000
= 300,000
< 90,000
SMY MAMCT s - HEE 18,600 18,600
= 15,000
< 3,600
308 XXX SOIA 18,600 18,600
= 15,000
< 3,600
01 AXNHHBAMNEES 18,600 18,600
O34y MAHI W= 18,600
= 15,000
= 3,600
s&2 MHol28 K& 3,400,000 1,400,000




4= =F= SN RIS
HE: 59 FMY L
ol MRS SY CER-ED
= — — L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 3,400,000 2,000,000 1,400,000
01 HIXNHHBHNEELES 3,400,000 2,000,000 1,400,000
O=%2 M2 XI& 3,400,000
Fofl OFMESE2 ZEAE XNJAAZ 43,758 77,220 A 33,462
= 33,660
< 10,098
403 MtXISHHE X201 & 43,758 77,220 A 33,462
= 33,660
< 10,098
01 XM A=2EE 43,758 77,220 A 33,462
ORdl OFME=2 ZEAE XNFAE 43,758
= 33,660
< 10,098
it 2+MEx(2 M3S8) XN 50,625 50,625 0
403 A X EHHS =0l A 50,625 50,625 0
01 XXM 22 = 50,625 50,625 0
OJEUtl =xMEX(EM3S) N 50,625
g NASsHE=s 88 |4 16,169,575 33,200,279 A 17,030,704
= 6,008,211
J| 4,751,119
< 5,410,245
== DSE AMESUH MY 1,529,700 1,261,500 268,200
J| 1,055,000
< 474,700
403 A X EHHSH20lA 1,529,700 1,261,500 268,200
J| 1,055,000
< 474,700
01 HXSHMA=E X 1,529,700 1,261,500 268,200
Ot NEEE AMESEUS At 1,529,700
J| 1,055,000
< 474,700
BAMZHACK JIBFEHALS 1,211,600 1,566,280 A 354,680
J| 1,127,000
< 84,600
403 MtXSHHE A0l E 1,211,600 1,566,280 A 354,680
J| 1,127,000
< 84,600
01 XS M A=2E X 1,211,600 1,566,280 A 354,680
O M MACK JIBFEHALS 1,211,600
J| 1,127,000
< 84,600
TSSS WY WUZATI AYAY 351,000 368,030 A 17,030
= 270,000
< 81,000




A= =833 2A  RIIssD
M=ol AWM L3
Sl DY NYSHES SF S4 CERED
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
308 AXISHXMSO0IH 351,000 368,030 A 17,030
= 270,000
= 81,000
01 HXHNBMNEXTZ 351,000 368,030 A 17,030
Ox=Ss2804a WL2tA I& AlB AL 351,000
2 270,000
o= 81,000
A0 st 706,787 418,438 288,349
Jl 487,439
= 219,348
403 XX S M S K201 A 706,787 418,438 288,349
Jl 487,439
= 219,348
01 MXHHE2BE = 706,787 418,438 288,349
OAE20 st 706,787
Dl 487,439
= 219,348
D= OIS THHHAIE X 172,000 99,000 73,000
J| 172,000
403 XtXISHH S K201 172,000 99,000 73,000
J| 172,000
01 MHXHNMAHEE = 172,000 99,000 73,000
O HIJIE THHHAIE XI& 172,000
Jl 172,000
AES0 HHXIOIE 2835 AT (E2AIY) 216,725 317,595 A 100,870
= 216,725
403 XXM S K201 A 216,725 317,595 A 100,870
= 216,725
01 XHNMAHEBE = 216,725 317,595 A 100,870
OANEZN UXoE 23 AFE(E2ZAIE) 216,725
= 216,725
AMEL0 HUXOI2 838 AP (K EWHLHE) 486,486 972,972 N 486,486
= 486,486
403 XX S M S X201 A 486,486 972,972 N 486,486
= 486,486
01 MXHHE2E =X 486,486 972,972 N 486,486
OANEZH HUXolE 23t AP (X Z YLt
) 486,486
= 486,486
OlaH MALAIA &3 181,250 327,862 N 146,612
Jl 125,000
== 56,250
403 XX S M S K201 A 181,250 327,862 N 146,612
Jl 125,000

- 22 -
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40 5 4

2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
< 56,250
01 XM A2E X 181,250 327,862 AN 146,612
Oola MAAIE S Hs 181,250
J| 125,000
< 56,250
HA MAAE SIS 78,300 319,138 A 240,838
| 54,000
= 24,300
403 XIS E X201 E 78,300 319,138 A 240,838
| 54,000
< 24,300
01 X SHHA2E= 78,300 319,138 A 240,838
OBA MaAE DS 78,300
| 54,000
= 24,300
SAAH DI BER = AL 1,609,400 0 1,609,400
| 1,238,000
< 371,400
403 UHXSHHSA=0l& 1,609,400 0 1,609,400
| 1,238,000
< 371,400
01 HXSHMA=E X 1,609,400 0 1,609,400
ORI RA=E At 1,609,400
| 1,238,000
< 371,400
ANE2U ICT 858 ot ALY 552,084 249,911 302,173
| 424,680
< 127,404
403 MtXISHH S0l & 552,084 249,911 302,173
| 424,680
= 127,404
01 XM A=2EE 552,084 249,911 302,173
OAIZ30 ICT 8= =24t ALY 552,084
| 424,680
< 127,404
e NGs5a=2 |4 342,500 339,000 3,500
403 A X EHHS =0l A 342,500 339,000 3,500
01 X EHHM A= LE XL 342,500 339,000 3,500
Oozad NdEsa= 84 342,500
SEE JFUMLMANE BES 300,000 300,000 0
403 MHXSHHSA=0l& 300,000 300,000 0
01 X ESHHMA=LE L 300,000 300,000 0
OEE JULANLE 25 300,000
Db EFE2Z MAEH N& 259,100 243,950 15,150
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2 - 4
2. 2A B G(E) - KR Ol &k o8 il HlnE2
403 UHXSHHSA=0l& 259,100 243,950 15,150
01 X SHMA2E X 259,100 243,950 15,150
Ot AZEZ MAMFH X 259,100
ol XIFASAH 22 117,000 91,500 25,500
308 AXIEHH S0l 117,000 91,500 25,500
01 IXNHHBNEES 117,000 91,500 25,500
ooy NASTH = 117,000
ota SEEY UM 270,000 270,000 0
308 XtXIEHHSOIA 270,000 270,000 0
01 AXNHHMBANEES 270,000 270,000 0
Onte &L UM XA 270,000
MERWES EZSHMNA X3 60,143 60, 143 0
308 XX EHH SOl A 60,143 60, 143 0
01 HXNHHNBHEELS 60,143 60, 143 0
OAMHRHNESE ELEFNL XA 60, 143
B==20F FTA AtSH & =8 X & 68,000 68,000 0
| 68,000
202 O4dl 11,100 8,000 3,100
| 11,100
03 =220l 11,100 8,000 3,100
O==Z0F FTA At AHE =8 X 11,100
| 11,100
308 XXIEHHSOIA 56,900 60,000 23,100
| 56,900
01 AXHHBILEES 56,900 60,000 A 3,100
ODt==Z0F FTA At HE =& X 56,900
| 56,900
HHOI@ESHsHSESS SR =4 3,802,500 12,825,000 29,022,500
= 2,535,000
< 1,267,500
403 MHXISHHSA=0l& 3,802,500 12,825,000 29,022,500
= 2,535,000
< 1,267,500
01 X ESHMA=LE L 3,802,500 12,825,000 A 9,022,500
OHOILEHsH=ES SR =4 3,802,500
= 2,535,000
< 1,267,500
NEEs dUHE AEE 24 3,750,000 7,650,000 23,900,000
= 2,500,000
< 1,250,000
403 MtXISHHS =0l & 3,750,000 7,650,000 23,900,000

_24_




NET 24 @ RIsdt
M=ol AWM L3
@ JIYE NESsHs 58 84 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
= 2,500,000
< 1,250,000
01 HIXSHMA2E X 3,750,000 7,650,000 23,900,000
OXNEEs AdUE ANEER =4 3,750,000
= 2,500,000
< 1,250,000
staE HHAES SE4XE 105,000 105,000 0
403 Ut S S A201 & 105,000 105,000 0
01 XXM A2E = 105,000 105,000 0
Oltztad HHAEST SEXE 105,000
SSMAD|IBEE A 23,708,050 32,414,112 8,706,062
= 9,690,000
< 14,018,050
B == JH & AL 8,600,000 6,100,000 2,500,000
= 8,600,000
402 RI2FXt20l M 7,100,000 6,100,000 1,000,000
= 7,100,000
02 QIZF 2 A EZ (01X TH ) 7,100,000 6,100,000 1,000,000
Ot &AL 7,100,000
= 7,100,000
403 MtXISHH S =0l & 1,500,000 0 1,500,000
= 1,500,000
01 AXSHMA=2E X 1,500,000 0 1,500,000
Ot & AL 1,500,000
= 1,500,000
SHEUHHIE =0 2 ALY 1,226,250 1,226,250 0
= 1,090,000
< 136,250
403 XIS E X201 E 1,226,250 1,226,250 0
= 1,090,000
< 136,250
01 XXM 22 = 1,226,250 1,226,250 0
OstLHHI S+ At 1,226,250
= 1,090,000
< 136,250
OIS EH AL (M EAY) 2,281,000 2,329,000 A48,000
403 Ut SHHSA=0l& 2,281,000 2,329,000 A 48,000
01 X SHHMA=E L 2,281,000 2,329,000 A 48,000
OZIIEHEHI ALY 2,281,000
e ZX el A (HEAY) 4,325,500 4,418,000 A 92,500
403 XA SA=0l& 4,325,500 4,418,000 A 92,500
01 XM A=2E X 4,325,500 4,418,000 A 92,500
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=33 SN RIS
so AW 2
SSMADIBEES (&)
224 ZB SN - HRAY - BES 0l &t o il Bl RE2
OU=T&ZXNFelAY 4,325,500
ANZ el AIEIHESAS (M EALY) 4,336,000 4,590,000 A 254,000
403 MtXSHHE X0l E 4,336,000 4,590,000 A 254,000
01 XM A=2EE 4,336,000 4,590,000 A 254,000
OAZ =l A EHE = AL 4,336,000
272 SN ALY (HEAY ) 2,140,000 1,123,000 1,017,000
403 MHXISHE X201 H 2,140,000 1,123,000 1,017,000
01 X SHHXN2E= 2,140,000 1,123,000 1,017,000
OAL7 2 His=IH& AL 2,140,000
IS UH sZE=IIE8tAIE ZHIAMS 787,300 197,500 589,800
403 A X EHHSH=0IA 787,300 197,500 589,800
01 X ESHHMA=2LE L 787,300 197,500 589,800
Ol Ul = EIIBtAIE FHIALY 787,300
SHMADIBEAIE At 22l 12,000 12,000 0
202 O4dl 12,000 12,000 0
01 = LH o4 1l 12,000 12,000 0
O=HMADBHAIE At 2tel 12,000
HY2HIH (RI=s4t1) 66,648 63,871 2,777
Jl=&dl 66,648 63,871 2,777
Jl=dl 66,648 63,871 2,777
201 Let24d] 26,288 20,401 5,887
01 At 22/l 26,288 20,401 5,887
OJle=+=&Hl 11,688
OJlEas &l 14,600
202 044l 40,360 43,470 A3,110
01 SLHOIYI 40,360 43,470 A3,110
OJlE0l 40,360
Heegs(RIsa) 46,000 46,000 0
HEHH K= 46,000 46,000 0
LHEHeHXI & 46,000 46,000 0
705 G~ Acl34E 46,000 46,000 0
04 Al - SXGIHLI S0 =30l A& 46,000 46,000 0
OS2l = 7 A (2020) 46,000
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A

= - — SHE]|
SN B E(BH) - NREMY - BYS e bl D=2t
s 147,771 12,066,830 680,941
= ,688,800
J| ,633,752
= ,425,219
OtE NEE M2 EES |4 , 708,893 12,030,729 678,164
= 4,688,800
J| 1,633,752
< 6,386,341
ANEXEE S5 WL 9,903,169 9,681,355 221,814
= 2,729,800
J| 1,256,752
= 5,916,617
AERERY 15,200 14,200 1,000
201 et 14,000 13,000 1,000
01 At 22l 14,000 13,000 1,000
Ot & =g H| 14,000
203 YR =&l 1,200 1,200 0
03 AIHF=XH R =AH| 1,200 1,200 0
OsAESRESANH =2 1,200
ME SSHEH XA 1,126,101 1,126,101 0
= 1,080,000
< 46,101
308 XXM SO0l A 1,126,101 1,126,101 0
= 1,080,000
< 46,101
01 IXNHHBNEES , 126,101 1,126,101 0
OsttEs SsHdEdl XN& 1,126,101
= 1,080,000
< 46,101
HN2RsHH 2S(M4XAM2A4) 335,232 60, 282 274,950
J| 257,871
= 77,361
403 A X EHHS =0l A 335,232 60,282 274,950
J| 257,871
< 77,361
01 X EHHM A= LE L 335,232 60,282 274,950
OMS2REMH S (AXNM2AE) 335,232
J| 257,871
< 77,361
2REMA FHE(H2=ETH) 49,246 37,462 11,784
Jl| 37,881
= 11,365
403 UHXSHHSA=0l& 49,246 37,462 11,784
J| 37,881
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% = RE]
SA B 9 (3H) e HDE2
T 11,365
01 HXSHH =L E 49,246 37,462 11,784
ONMES|EMH 2E(NS+S T 49,246
2l 37,881
S 11,365
G2 AXIFRSAE EX 250,000 250,000 0
403 TtXI M S A =01A 250,000 250,000 0
01 XIS HIt2 2 & 250,000 250,000 0
Ostt2 M4XRSAE X 250,000
Bk RxsSU= 2 45,000 45,000 0
201 £et23E | 45,000 45,000 0
01 At 22l bl 45,000 45,000 0
OBIY=E 2455 45,000
ME FHEXNE FHl X 18,900 21,000 A2,100
403 X SHHSA=01H 18,900 21,000 A 2,100
01 XM= ExE 18,900 21,000 A2,100
Ost=2HYR S 18,900
gX=SSSZTEMsLANE 620,000 620,000 0
= 500,000
= 120,000
403 TtXI M S A =01 A 620,000 620,000 0
= 500,000
< 120,000
01 MRS =L xE 620,000 620,000 0
OgxeBSAA 620,000
= 500,000
S 120,000
T s ZHAE AME S0E A Y ,249,300 579,860 669,440
Jl 961,000
S 288,300
403 TtXI A S A =01A ,249,300 579,860 669,440
Jl 961,000
S 288,300
01 HAHH =2 x= ,249,300 579,860 669,440
OFF S==MSTUHAIE AMEBUE A ,249,300
Jl 961,000
< 288,300
&S HEad o4 0 E 89,100 89,100 0
308 XXM SO0I™ 89,100 89,100 0
01 XM BaE2ES 89,100 89,100 0
OsttE Hgat HEX2 89,100
N sLE AHEE Mo 21,000 21,000 0
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=33 SN s
AHIT O DEY SN2 ¥ES 84

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 21,000 21,000 0
01 HIXNHHBHNEELES 21,000 21,000 0
OXGsatE2 AHIFE MAA, AR WS 21,000
== sSNsE BE 156,600 159,000 A 2,400
201 L4l 120,000 120,000 0
01 At 22l 120,000 120,000 0
OXEsS4zs 88 TVESHMEH 120,000
301 LA F 1,600 4,000 A 2,400
12JIE243 1,600 4,000 A 2,400
O==E sSL= E2UAMN 23l 1,600
307 glz2tol & 35,000 35,000 0
04 DI2HHALALSE E X 35,000 35,000 0
O&= s&2 AAHHEH It 35,000
S&2 TVe=2ckel HE0AE MY 54,400 54,400 0
308 XXM SOIA 54,400 54,400 0
01 IXNHHBNEES 54,400 54,400 0
OsdtE TVe=ct HS50HHE ALY 54,400
SE=SL 33ZE ¥ 2dEs 29 175,680 98,800 76,880
308 XtXIEHHSOIA 175,680 98,800 76,880
01 AXHHILEES 175,680 98,800 76,880
OsE=L ZSHETH 2Be=s 29 60,000
Ostts FSZTEZH e-a¥8=2 SJH N 115,680
SANE 2t OHAHE XS ArS 54,000 54,000 0
308 XXM SO A 54,000 54,000 0
01 IXNHHBNEES 54,000 54,000 0
O=sAE 2HY DHAHEXE ALY 54,000
1= 10E 29 A&y 29 17,000 17,000 0
308 XtXIEHH SOl A 17,000 17,000 0
01 X HHILEES 17,000 17,000 0
O1=E1E HAHcHEH 2 XE 17,000
GAPAIE 2 2tALY 232,200 108,000 124,200
= 193,500
< 38,700
403 MHXHHSA=0l& 232,200 108,000 124,200
= 193,500
< 38,700
01 XM A=E L 232,200 108,000 124,200
OGAP Ald B2tAtY 232,200
= 193,500
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M ox
40 5 4

H A

30,000

R.RA-ZE-G(HH) - HRAY - BES il H D = 2t
| = 38,700
GAP ot =AM XI& 380,640 461,500 A 80,860
2 292,800
== 87,840
308 XXX SO0 A 380,640 461,500 A 80,860
= 292,800
< 87,840
01 AXSGHBLEES 380,640 461,500 A 80,860
OCGAP St =& XI& 380,640
= 292,800
= 87,840
AldE N 243 A2 170,000 280,000 A 110,000
=2 85,000
= 85,000
307 2Iz2tol A 170,000 280,000 A 110,000
2 85,000
= 85,000
02 RIZFE MM E X 170,000 280,000 A 110,000
Osldens g4dst X2 170,000
2 85,000
< 85,000
AME DE8 AUE HE N 90,520 0 90,520
201 L2l 90,520 0 90,520
01 At 22l 90,520 0 90,520
O=2&=¢ 4,200
Ounsg a2 M= 11,000
Ousg W+ M 75,320
SAME ANEAH A (HEAIY) 30,000 30,000 0
307 2Iztol ™ 30,000 30,000 0
02 BIZFA M AMEHE X 30,000 30,000 0
OsAE ANEAH A 30,000
HNOHE XA 390,000 0 390,000
= 300,000
< 90,000
403 XIS H S K201 & 390,000 0 390,000
2 300,000
< 90,000
01 XXM A2E = 390,000 0 390,000
OZXME XA 390,000
= 300,000
< 90,000
NoEc? ZTEZ2d 25 NJAE 130,000 255,000 A 125,000
100,000




A=
M AHA 2E DEE sdtE HES 84
el AEXEE RS2 KA (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 130,000 255,000 A 125,000
= 100,000
< 30,000
01 HIXNHHBHNEELES 130,000 255,000 A 125,000
OXgttel Fc=e 25 N 130,000
= 100,000
< 30,000
N ZeZel 2 (ord2el) NAAMS (HEAY) 195,000 65,000 130,000
308 XXM SO A 195,000 65,000 130,000
01 AXHHBISEES 195,000 65,000 130,000
OXY ZEEH 2 (& 2e|) NAAY 195,000
9iel =8dAH =5 23 NF 14,000 18,600 A 4,600
201 et 13,000 16,900 A 3,900
01 At 2teltl 9,600 13,600 A4,000
O&s+Y 6,600
OJIet =&Hl 3,000
03 A2 3,400 3,300 100
Ol A2 IS 3,400
301 LEd = 1,000 1,700 A700
09 SALAHIX A S 1,000 1,700 A700
O%NHel Ade IS 1,000
ANl SESAAME A (HEAY) 1,000,000 1,000,000 0
403 MtXISHHES A0l & 1,000,000 1,000,000 0
01 HXSHMA=2E X 1,000,000 1,000,000 0
Og%el SEXNJAHH A8 1,000,000
2324 JEMAXNA 25 KNI AL 24,050 13,000 11,050
= 18,500
< 5,550
308 XXIEHH SOl A 24,050 13,000 11,050
= 18,500
< 5,550
01 AXHHIYEES 24,050 13,000 11,050
OS24 J=MLNA 2= XA 24,050
= 18,500
S 5,550
H MilsP el 2SE XA 2,650,000 2,650,000 0
308 MtXIEHSOIH 2,650,000 2,650,000 0
01 HXNHHBHELS 2,650,000 2,650,000 0
Ol THHl =g ol BEtE X3 AHY 2,650,000
S Jlg2 AN 2E A Y 320,000 400,000 A 80,000
= 160,000




4= =33 SN SAERSD
M AHA 2E DEE sdtE HES 84
el AEXEE RS2 KA (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 160,000
307 glz2tol & 320,000 400,000 A 80,000
= 160,000
< 160,000
02 It M AHE X 320,000 400,000 A 80,000
Osgn J1g 2t A 235 At 320,000
= 160,000
< 160,000
NAH e Z2Hole == X2I| FF 295,000 386,000 291,000
st =5 |84 225,000 316,000 A 91,000
403 MtXISHHE X201 E 225,000 316,000 A 91,000
01 X SHH A2 E= 225,000 316,000 291,000
OsdtE =24 s4 225,000
T=ESAE IHSSE AEEUS 70,000 70,000 0
403 XIS E X201 & 70,000 70,000 0
01 XXM A2E = 70,000 70,000 0
Ox=2s4E ItES3% ANt 70,000
d=2 5 3 IIABHE =4 2,510,724 1,963,374 547,350
= 1,959,000
J| 377,000
< 174,724
AMEALAT & BB AY S4 459,000 0 459,000
J| 353,000
< 106,000
403 MHXSHHSA=0l& 459,000 0 459,000
J| 353,000
< 106,000
01 X ESHHMA=E L 459,000 0 459,000
OASATH & BItE &Y |4 459,000
J| 353,000
< 106,000
=W ASHAS IOt XA 29,700 29,700 0
308 XXM SO0l A 29,700 29,700 0
01 IXNHHBNEES 29,700 29,700 0
O=3U ASHEAS &It N2 29,700
AN B 243 N 13,824 13,824 0
308 XtXIEHHSOIA 13,824 13,824 0
01 XML EES 13,824 13,824 0
OXes MSF 243 1 13,824
s M= sEEHMHAS 24 18,000 20,000 A 2,000
308 MtXIEHSOIH 18,000 20,000 A 2,000
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=33 SN BN
B4 HYOH
B4 B st

A

- _ — d =
CRN I S(EH) - MRAY - BYS e HlDE2
ot , 703,310 19,873,229 6,830,081
=2 123,750
s 120,000
J| ,588,086
< ,871,474
=My FFoHE , 739,475 14,358,990 5,380,485
= 350,550
s 120,000
J| 8,588,086
< 7,680,839
Sy 3™ A5t 5,440,833 4,616,504 824,329
J| 3,321,508
< 2,119,325
=iy 29 16,200 16,200 0
201 2et2d]| 15,000 15,000 0
01 At 2teltl 15,000 15,000 0
Ot & =2t 15,000
203 YR =&l 1,200 1,200 0
03 AIMF=XH R =AH| 1,200 1,200 0
O=LHAIH =2 1,200
stEf 3YH LA 462,500 504,200 241,700
307 glz2+ol & 39,000 39,000 0
04 QIZFHALAIH E = 39,000 39,000 0
O=4tel storstial X& 9,000
Ost2Z &zl M= 20,000
OFshardedd® MR OHA 10,000
308 XXIEHH SOl A 423,500 465,200 A 41,700
01 AXHHIYEES 423,500 465,200 A 41,700
Od= IxAM2U3 XA 20,000
OstAMaE A (HE)ALS 370,350
OSO0tAI o OFE TIAFS 21,000
O=&& OlaANz=g X 12,150
Asg WHHAI2lI EX01 K& 28,800 28,800 0
403 UHXSHHS =0l & 28,800 28,800 0
01 XM A=2E X 28,800 28,800 0
OXsd WAl X121 XI& 28,800
II=THoll 2 & 800,000 600,000 200,000
308 XXIEHHSOIA 800,000 600,000 200,000
01 AXHHIYEES 800,000 600,000 200,000
ON=sTEE 800,000
b= EHALK Me2ldl X 90,000 90,000 0




4= =33 SN ELUD
M A HAIGOHH
Sl B AW s CEEEED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
403 XX SHHS K20 & 90,000 90,000 0
01 AIXISHHMAZ2E X 90,000 90,000 0
OJIE HAM ™Heldl X 90,000
4 ICT B2 AIY 3,600,000 2,880,000 720,000
J| 3,000,000
& 600,000
403 XX SRS K2 0| & 3,600,000 2,880,000 720,000
J| 3,000,000
& 600,000
01 MXHHE2E = 3,600,000 2,880,000 720,000
OFA ICT =& AIY 3,600,000
J| 3,000,000
= 600,000
st SOIME K& 378,333 397,334 A 19,001
Dl 271,508
o=t 106,825
308 XX SHHSOIH 378,333 397,334 A 19,001
J| 271,508
o=t 106,825
01 AIXSHMENEXZ 378,333 397,334 A 19,001
OstMs0IME X& 378,333
J| 271,508
& 106,825
Sa4 S0IE &2 - 29 19,500 65,000 A 45,500
J| 15,000
& 4,500
308 XHXIEHSOIA 19,500 65,000 A 45,500
J| 15,000
o=t 4,500
01 AIKISHHEMNEXZ 19,500 65,000 A 45,500
Ofad &0ty 2914 19,500
J| 15,000
o= 4,500
Ss=E2Z S0 243 32,500 34,970 A2,470
J| 25,000
& 7,500
308 AMXISHMSOIA 32,500 34,970 A2,470
J| 25,000
&< 7,500
01 IXHHIMNEEXTZ 32,500 34,970 A2,470
Os&22 s0F 2438 32,500
J| 25,000
& 7,500
S0 223 13,000 0 13,000
J| 10,000
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AETICEE SN ESMD
Hu: ENY BYOH
Sl B AW s CEEEED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 3,000
308 XXM SO A 13,000 0 13,000
J| 10,000
< 3,000
01 IXNHHBNEES 13,000 0 13,000
Os&0t st 13,000
J| 10,000
< 3,000
TEFF4 I8 24 5,888,067 6,008,428 A 120,361
J| 3,014,480
= 2,873,587
ZAAL BANS 205,500 157,500 48,000
403 MtXISHHE X201 E 205,500 157,500 48,000
01 X S22 = 205,500 157,500 48,000
OJI=EE=HM FHl 2= 90,000
OJ=Er n8gs - AXD| XA 115,500
EHEsE REXNA 44,550 37,800 6,750
308 XX EHHSOIA 44,550 37,800 6,750
01 HIXNHHBNEES 44,550 37,800 6,750
gt g M XA 44 550
SAFON A ALY 1,099,280 1,224,573 A 125,293
J| 845,600
< 253,680
403 RXISH S X =0l & 1,099,280 1,204,573 125,293
J| 845,600
< 253,680
01 HXSHMA=E X 1,099,280 1,224,573 A 125,293
OF Lt FH I & ALY 1,099,280
J| 845,600
< 253,680
ICT &4H=F JIAHEE XA 39,000 386, 100 A 347,100
J| 30,000
< 9,000
403 XSS A0l & 39,000 386, 100 A 347,100
J| 30,000
< 9,000
01 X SHHA=2E = 39,000 386, 100 A 347,100
OICT 4H=ZF JIAHEH XN 39,000
J| 30,000
< 9,000
S HHKRSHEH X 76,000 76,000 0
J| 40,000
< 36,000
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42 =32 S R
Hu: ENY BYOH
ool MBYEL OB Ty (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
403 UHXSHHSA=0l& 76,000 76,000 0
J| 40,000
< 36,000
01 X SHMA2E X 76,000 76,000 0
O+ dHsSHH X 76,000
J| 40,000
< 36,000
Sl MYl A ZHl XI& 252,880 307,500 A 54,620
J| 252,880
308 XXM SOIA 252,880 307,500 A 54,620
J| 252,880
01 AXHHBISEES 252,880 307,500 A 54,620
OE&lddl&xdl X& 252,880
J| 252,880
dHH FSE s 58,320 64,800 A 6,480
308 MXIEHMSOIH 58,320 64,800 A6,480
01 X HHILEES 58,320 64,800 A 6,480
OUHIMEX Itz LaM 3= 58,320
=N 22 90,000 90,000 0
308 A EHHSOIA 90,000 90,000 0
01 HXNHHBHELS 90,000 90,000 0
ON=dzHM 32 90,000
ASHEMN HEs)} 84 43,740 43,740 0
308 XXM SO A 43,740 43,740 0
01 IXNHHBNEES 43,740 43,740 0
O eId=FL eI =4 43,740
DEBASL ALEY 23 332,530 315, 166 17,364
403 XIS E =01 332,530 315,166 17,364
01 AXISHHA2E = 332,530 315,166 17,364
OxEAZL AILEH B2 332,530
SN A DBt S ALY 798,227 752,829 45,398
308 MXIEHSOIH 504,107 496, 869 7,238
01 HXNHHBHELS 504,107 496, 869 7,238
OHEM™MbI(HIE) XA 100,000
O=gMs ZHN K& 51,450
OHRZE YEMz 01EXNA 36,000
OAZHE MAXH 316,657
403 MtXISHHE X201 E 294,120 255,960 38,160
01 X SHHAN2E = 294,120 255,960 38,160
OXAE ==Zdl X& 267,120
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A= =32 SN BN
M MY FAHoHE
Sl dEPSN e E4 CERED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
OZAZ JIZBAIE E2 27,000
ZAE MR 2,741,640 2,444,420 297,220
J| 1,790,000
< 951,640
308 XXM SOIA 2,741,640 2,444,420 297,220
J| 1,790,000
< 951,640
01 IXNHHBANEES 2,741,640 2,444,420 297,220
OArZelXI(g=2201) M=EHI 2,200,000
J| 1,375,000
< 825,000
OAMzZE BSXUH 219,800
J| 157,000
< 62,800
OZME MBI 2 (At X HMZEdl) 251,720
J| 203,000
< 48,720
OZMNZ MU X4 (BXU) 28,520
J| 23,000
< 5,520
OZAl2 M2 XM (& ,Hdl) 31,200
J| 24,000
< 7,200
OXAE S22l X& 10,400
J| 8,000
< 2,400
EME AIE & JIAHEH 106,400 85,500 20,900
J| 56,000
< 50,400
403 XIS S K =0l & 106,400 85,500 20,900
J| 56,000
< 50,400
01 *XSHMA2E X 106,400 85,500 20,900
OZAt2 BgH &ZHl XA 106,400
J| 56,000
< 50,400
dEZE ¥ /K30 S 411,982 447,429 A 35,447
J| 286,141
< 125,841
E0E REDIE 25 40,000 59,000 19,000
307 21201 A 40,000 59,000 A 19,000
04 QIZFHALAIH B = 40,000 59,000 A 19,000
OB 892 Scy =7 40,000
A D101 M (HES ) 371,982 388,429 A 16,447
J| 286,141
< 85,841
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A3 33 M 1S40
Hu: ENY BYOH
SRl OMSAS Y RSIIB HE CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 371,982 388,429 N 16,447
J| 286,141
< 85,841
01 HIXNHHBHNEELES 371,982 388,429 N 16,447
OAJI0l&E M (HES =) 371,982
J| 286,141
< 85,841
AEE S4D|gH- S2=2X WA =4 7,998,593 3,286,629 4,711,964
= 3,350,550
as 120,000
J| 1,965,957
= 2,562,086
Loy =4 375,947 347,600 28,347
308 XXM SO A 321,947 293,600 28,347
01 IXNHHBNEES 321,947 293,600 28,347
Oty BdeE Zst 305,800
Ogssll sAl=M 8,047
Oss 23203 X 8,100
403 Mt S E X201 & 54,000 54,000 0
01 X SHHAN2E= 54,000 54,000 0
Og=s di= Mel&dd X 54,000
LHE X EH X2 A 15,860 11,830 4,030
J| 12,200
< 3,660
403 A X EHHSH20lA 15,860 11,830 4,030
J| 12,200
< 3,660
01 HXSHMA=E X 15,860 11,830 4,030
OZLEXIEH XA 15,860
J| 12,200
< 3,660
=S4y FHA 235 39,750 40,500 AT750
308 XX EHHSOIA 6,750 7,500 AT750
01 IXNHHBNEES 6,750 7,500 AT750
O23As 8228 &4 6,750
403 A X EHHS =0l A 33,000 33,000 0
01 X SHHX2E= 33,000 33,000 0
O2& AMs - Its ANEEdl N& 33,000
Ao 2EAA HESHI] =4 3,614,000 0 3,614,000
= 2,780,000
< 834,000
403 A X EHHSH20lA 3,614,000 0 3,614,000
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=33 SN BN
209 HYory
NEE BMIE - S22T HA T4 2 ERA)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
= 2,780,000
< 834,000
01 HIXSHMA2E X 3,614,000 0 3,614,000
O 2340 HNEHI =4 3,614,000
= 2,780,000
< 834,000
2SS MR A 156,000 0 156,000
= 120,000
< 36,000
308 XX EHHSOIA 156,000 0 156,000
= 120,000
< 36,000
01 AXNHHEBAMNEES 156,000 0 156,000
OR2sREMIXA 156,000
= 120,000
= 36,000
=234 s X2 168,000 0 168,000
= 120,000
< 48,000
403 X SHHSA=0l& 168,000 0 168,000
= 120,000
< 48,000
01 HIXESHMA2E X 168,000 0 168,000
2= 4& e X 168,000
= 120,000
< 48,000
StNRFSA 2,308,508 2,191,544 116,964
J| 1,923,757
< 384,751
308 XXM SOIA 2,308,508 2,191,544 116,964
J| 1,923,757
< 384,751
01 IXNSHHBANEES 2,308,508 2,191,544 116,964
Ostuesgasal N 2,308,508
J| 1,923,757
< 384,751
HAZHH LsAY 126,400 126,400 0
308 MtXIEHMSOIH 126,400 126,400 0
01 AXHHILEES 126,400 126,400 0
OXRA YA ASAY 126,400
SMFIEEXN BE= 20,160 20,160 0
308 AHAIEHHSOIA 20,160 20,160 0
01 AXSGHBLEES 20,160 20,160 0
OFd JFHEXN E= 20,160




AETICEE SN ESMD
Hu: ENY BYOH
ool AME BADIE S2=X A X4 (29 & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
SE=L SEUS U= ZEH XNE 8,100 8,100 0
307 gl2tol & 8,100 8,100 0
02 It M AHE L 8,100 8,100 0
OFE=L SZEUS s4=2 ZEW N2 8,100
eIz ESMY 30,000 30,000 0
J| 30,000
308 XXM SOIA 30,000 30,000 0
J| 30,000
01 IXNHHBNEES 30,000 30,000 0
O3z stE= 30,000
J| 30,000
JF=EONE AL 78,000 78,000 0
308 XtXIEHHSOIA 78,000 78,000 0
01 XML EES 78,000 78,000 0
OLsE HA HYIN 53 60,000
OMS HE(A2+H) ALE 18,000
SEA FHH 2SAY 18,000 0 18,000
308 XXM SOl A 18,000 0 18,000
01 HIXNHHBNEES 18,000 0 18,000
OEEA M ASAIY 18.000
SAAE SUHS ALY 120,000 120,000 0
403 MtXISHE X201 E 120,000 120,000 0
01 X SHHX2E = 120,000 120,000 0
OJt= JI=83s EAd X3 120,000
s25A 2E A48 14,700 14,700 0
= 12,000
< 2,700
308 MXIEHSOIH 14,700 14,700 0
= 12,000
< 2,700
01 HXNHHBHELS 14,700 14,700 0
Os==X o5 A4E K& 14,700
= 12,000
< 2,700
== B3 .5X 118,000 140,500 A 22,500
308 XX EHHSOIA 118,000 140,500 A 22,500
01 HXNHHBNEES 118,000 140,500 A 22,500
S23X USMY =M 18,000
O=s2E34dH 29 100,000
2020 SH3AY K& 256,988 28,776 228,212
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A= =32 SN BN
g 2o 3EE
Selr AT FADIE - S2EX KA X4 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlDE2
= 116,820
< 140,168
308 XX EHHSOIA 256,988 28,776 228,212
= 116,820
< 140,168
01 HIXNHHBNEES 256,988 28,776 228,212
OZ120l sg3tArd X 256,988
= 116,820
< 140,168
o RISS L HE X 148,460 63,189 85,271
= 87,330
< 61,130
308 XtXIEHH SOl A 148,460 63,189 85,271
= 87,330
< 61,130
01 X HHILEES 148,460 63,189 85,271
ORJISE FAHE XNE 94,732
= 55,725
< 39,007
ORJIsE #+Z, B3 U2 XA 53,728
2 31,605
< 22,123
2 AEA SHats== X& 136,120 0 136, 120
2 66,400
< 69,720
308 XXIEHHSOIA 136,120 0 136,120
= 66,400
=) 69,720
01 AXHHIYEES 136,120 0 136, 120
Oa2 AEH Sdsts== K& 136, 120
= 66,400
< 69,720
QIS EESAIE SAMHAX A 69,600 0 69,600
= 48,000
< 21,600
403 A X EHHS 20l A 69,600 0 69,600
= 48,000
= 21,600
01 X HHMA=ZLE L 69,600 0 69,600
OAESEESAE SFMEXA 69,600
= 48,000
< 21,600
S2sdH XX 176,000 0 176,000
s 120,000
= 56,000
403 UHXSHHS =0l & 176,000 0 176,000




M ox
40 5 4

=E SN ELA
A HeorH
HE B0 S2=X 0fH =4

- _ — d =
SN P SAGEH) - HRAY - BYS 0] &k o4 e HlDE2
e 120,000
< 56,000
01 AXISHHA=2E = 176,000 0 176,000
OssEsdH XX 176,000
s 120,000
< 56,000
o 243t 6,411,903 5,357,907 1,053,996
= 4,773,200
< 1,638,703
=% g |4 6,411,903 5,357,907 1,053,996
= 4,773,200
S 1,638,703
= QI AEE & 25,800 77,400 251,600
= 24,000
< 1,800
403 MtXISHE X201 E 25,800 77,400 251,600
= 24,000
< 1,800
01 X SHHX2E = 25,800 77,400 251,600
OU=g elZsetd AX 25,800
= 24,000
= 1,800
ASTHHL LR (HEAY) 463,300 469,000 A5,700
308 MHXIEHSOIH 463,300 469,000 A5,700
01 HXNHHNBHEES 463,300 469,000 A5,700
Ox=4ESIHY L= 463,300
ANHLRESI ZAH(EESALY) 51,500 52,000 A 500
308 XX EHSOIA 51,500 52,000 A 500
N 3JN2sSoeBaH2AE AR 51,500 52,000 A 500
O=&SX MHYLR SUZA 51,500
A& SRS AL (E2HALY ) 65,000 65,000 0
403 MtXISHH S0l & 65,000 65,000 0
01 X SN2 L= 65,000 65,000 0
OSAIE SHEAIE JHA 65,000
HZ2ogel eHAEALD ol 20,000 14,400 5,600
403 XIS E X201 & 20,000 14,400 5,600
01 XXM 22 = 20,000 14,400 5,600
OL=0d M 2&H XA 20,000
FALHZ20Y S4 181,569 450,687 A269,118
308 A EHHSOIA 43,889 305,967 N 262,078
01 HXNHMBHELS 43,889 305,967 A 262,078
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M ox
40 5 4

R.RA-ZE-G(HH) - HRAY - BES Ol &k 2 il H D = 2t
oogel =4l & FENMZS 2,970
O2algel satrsE P 2ATH B35 14,720
OW==2 LA Z = M 16,200
Oz&d 0lFcXN2HE sk 22d XA 9,999
403 XAtXIH M S K20l ™ 137,680 144,720 A7,040
01 XXM A=2E £ 137,680 144,720 A7,040
OWUW=HAAZ XIcts 238 il 18,900
OW=HSADY MM HHl AlE EHI 12,150
O20E gtz & HFEZE H2NHE 1D
=0y 21,600
O=x¢ttE ot & JISTUAIE X 77,760
OXtg g QIS ANSEEI| K 3,220
OZ&d Ol Retkl ¢AaE =4 4,050
W2 0T HEs A 568,750 650, 000 £ 81,250
2 437,500
== 131,250
403 XXM S X201 568,750 650,000 A 81,250
= 437,500
= 131,250
01 XXM A2E = 568,750 650,000 A 81,250
Ou=9 o HE=* 568,750
= 437,500
= 131,250
Ao syd 124,000 161,200 A 37,200
= 100,000
< 24,000
403 XAXISHM S K201 A 124,000 161,200 A 37,200
= 100,000
< 24,000
01 XXM A2E = 124,000 161,200 A 37,200
Oxszeldgy =4 124,000
= 100,000
< 24,000
SO =4 2 B52e 104,000 115,000 A 11,000
308 XXX SOIA 104,000 115,000 A 11,000
01 AXNHHMEBANEES 104,000 115,000 211,000
OEES0H Ma X 44,000
OEZENRE XY ¢x X 30,000
OU= Rl 7 =& X2 30,000
SAF HAMN Heldl £X X 9,450 10,500 A1,050
403 XXM S K20l ™ 9,450 10,500 A 1,050
01 XXM A=2E £ 9,450 10,500 A 1,050
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AETICEE SN ESMD
HE: 420/ Ba5
S U= g s4 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
O2AE HAMA XMeldl &X X 9,450
HEREY 300AtS (LHEHETHA) 4,527,490 3,292,720 1,234,770
= 4,011,700
< 515,790
403 MtXISHHE X201 E 4,527,490 3,292,720 1,234,770
= 4,011,700
< 515,790
01 AXISHH A2 E= 4,527,490 3,292,720 1,234,770
ONESL300ML (LHEHETHA) 4,527,490
= 4,011,700
< 515,790
F=MABIISEHI XS 246,138 0 246,138
= 200,000
< 46,138
403 A X EHS =0l A 246,138 0 246,138
= 200,000
< 46,138
01 X EHHMA=ZLE L 246,138 0 246,138
O=MAZEINSHEI XA 246,138
= 200,000
< 46,138
TIPS AES ZEM K& 9,306 0 9,306
308 XX EHHSOIA 9,306 0 9,306
01 HIXNHHNBNEES 9,306 0 9,306
Ot AE 22 XI& 9,306
HOoE gotet 2d XA 15,600 0 15,600
308 XXM SO A 15,600 0 15,600
01 IXNHHBNEES 15,600 0 15,600
O F(&0) ot 2Hl A 15,600
HY I ZH (F44t10H) 44,432 54,832 A 10,400
Jl23dl 44,432 54,832 210,400
Jl=Z 44,432 54,832 210,400
201 et 14,192 14,192 0
01 At 22l 14,192 14,192 0
OJle+=&Hl 5,792
OJles gl 8,400
202 o4dl 30,240 30,240 0
01 = LH o4 1l 30,240 30,240 0
OJl20Hl 30,240
MRS (S41) 507,500 101,500 406,000
WEHHX S 507,500 101,500 406,000
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o

Al

=33 ot 1)
IEEEY ZH
2Ot AAIY =& (&2 &)
S .SA S (BH) - A ﬁlgg HDS2
A ,703,033 22,460,338 A 1,757,305
= ,791,024
Dl ,608,728
= ,303,281
SdEY HAES , 775,559 19,468,764 A 1,693,205
=2 786,274
Jl ,917,768
o= ,071,517
2L AAY =& ,841,753 17,674,822 A 1,833,069
=2 786,274
J| ,917,768
o= ,137,711
=AY oY L BRNAEE 2 ,826,211 3,986,982 A 160,771
=2 750,391
o= 75,820
308 XX S M SO0l & 3,826,211 3,986,982 A 160,771
= 3,750,391
& 75,820
01 AXHNBAMNEXZ ,826,211 3,986,982 A 160,771
OJsegd IJtasd 9,750
2 7.500
< 2,250
O Wg=AF & 2,191,382
= 2,191,382
O &I GPS S LD = 66,300
2 51,000
= 15,300
OFAMXe SEM 29 208,958
= 160,737
o= 48,221
O B24dety ¢ 323,100
= 323,100
OYXARHEE XNEZXS AMH 25,500
= 25,500
OJasIt 2gz2el X 21,000
= 21,000
O AED| sSLH XA 88,000
= 88,000
OsSH=AS2E € A 848,674
= 848,674
OAl 8 & S AAHl K& 43,547
= 33,498
& 10,049
FHS A TR 3,790,058 3,770,282 19,776
= 3,523,883
[ 266,175
308 AXISHXMSOIA ,790,058 3,770,282 19,776
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A= =32 SN sEYAD
M OIsdEE FFs
Sol R oAY =W (e9: & 9)
= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t

= 3,523,883
= 266,175

01 IXNHHBNEES ,790,058 3,770,282 19,776
OFHMS ogHwal S5 2,466,501
= 2,466,501
OFHYE HEES Al=tl 498,225
= 383,250
< 114,975
OFHS HAFEE 23H = 170,132
= 170,132
OZAa Z=H & ESA=sH X2 655,200
= 504,000
< 151,200

= HSX 2el - 48 145,000 1,885,000 A 1,740,000
= 100,000
< 45,000

308 X EHSOIA 145,000 1,885,000 A 1,740,000
= 100,000
= 45,000

01 AXSHHBLAEES 145,000 1,885,000 A 1,740,000
OJt= 2K &2 - 48 A 145,000
= 100,000
< 45,000

IEAMB ANV EE YAX Q1Y X 1,716,500 1,681,667 34,833
J| 1,029,900
< 686,600

307 glz2+ol & 1,716,500 1,681,667 34,833
J| 1,029,900
< 686,600

03 QIAHMNHE2IHIEE , 716,500 1,681,667 34,833
ONsdgdAld=: 29 1,716,500
J| 1,029,900
< 686,600

SsEHHY 23 1,034,184 1,001,191 32,993
J| 939,868
< 94,316

308 MXIEHMSOIH 1,034,184 1,001,191 32,993
J| 939,868
< 94,316

01 AXSHBLELS 1,034,184 1,001,191 32,993
O=s&HE el 565,896
J| 471,580
< 94,316
OZsg MY 249l 468,288
J| 468,288

ANEEAS ,357,000 3,357,000 0
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A= =32 SN sEYAD
Ha: JlENEY I
Sel: BOroiAY =X CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Ei HR=2
= 2,984,000
== 373,000
308 XHXIEH SO0l A 3,357,000 3,357,000 0
= 2,984,000
= 373,000
01 AIKSHHEMNEX= 3,357,000 3,357,000 0
Oadaaeaz 3,357,000
= 2,984,000
o= 373,000
IIEEHIISEE AIEAIY 126,000 126,000 0
308 NXICSHMSOIA 126,000 126,000 0
01 IXHHIMNEXS 126,000 126,000 0
OJNETY NS (AY) 126,000
gty & 2Y HAAIEH & X 514,400 1,461,300 A 946,900
= 428,000
o=t 86,400
403 XX SHHS X201 & 514,400 1,461,300 A 946,900
= 428,000
o=t 86,400
01 XS A2E X 514,400 1,461,300 A 946,900
OoOaxsxe XN 80,000
= 80,000
OJisetg s X 60,000
= 60,000
OHE H=E - ASAE &X 374,400
= 288,000
& 86,400
gtolmet X A& 1,232,400 335,400 897,000
J| 948,000
= 284,400
403 XX SHHS K20 & 1,232,400 335,400 897,000
J| 948,000
= 284,400
01 XIS A=Z2E X 1,232,400 335,400 897,000
Ogteolme &x X< 1,232,400
J| 948,000
o= 284,400
ZOI0ITH LAY XI& 100,000 70,000 30,000
308 XXIGHHM SO0l & 100,000 70,000 30,000
11 B 2SHUSEANE AIS Y 100,000 70,000 30,000
OsAE JI=88 oM LA () 100,000
s gY oflgr 22 1,933,806 1,793,942 139,864
OFZ 2|2t KNI EY o2 ALY 37,170 41,310 A4 140
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A= =32 SN sEYAD

Ha: JlENEY I

SRl s oy el EERED
- _ _ RE]

AT SN BH O (3H) - MEAY - BES Ol At o %Eﬁ HR=2
308 XHXIEHSO|A 37,170 41,310 N4, 140
01 AIXSHMENMNEX= 37,170 41,310 N4, 140

OOFEZ|IIHX S 0l LALS 37,170
MY 2@ 531,800 429,800 102,000
201 LBt | 8,600 8,600 0]
01 AP 22| d| 8,600 8,600 0
OFHME, AIEZERAUI) SEEASASA
= & d| 1,600
OgBtAALZH| 7,000
203 €2 F=&d| 1,200 1,200 0
03 Al ZH =X 2= XIH| 1,200 1,200 0
OSSUAANHEZ 1,200
308 XX EHSOIA 522,000 420,000 102,000
01 AIXSHMEMNEX= 522,000 420,000 102,000
OFME HLES L2SAE 522,000
AFOoERAU X &A 637,112 637,112 0
308 XHXISHH SO0l & 637,112 637,112 0
01 AIKISHHENEXZ 637,112 637,112 0
OAl EXIIIH XI& 573,000
O2cel Al oflgt =&HiH=H 64,112
s D|IEE = 357,600 330,500 27,100
308 XX G SOIA 293,100 263,300 29,800
01 AIXSHMEMNEX= 293,100 263,300 29,800
OHE NEASANE 29H XN 94,500
OJlsgas %2 U 28 3¢ 59,400
OB A SdH9eE s 139,200
403 XX SHHS K20 & 64,500 67,200 A2,700
01 XIS A=Z2E X 64,500 67,200 A2,700
OsHELR ANSAED| & 42,000
OSAMUE LASTA - ARASAIE &X 22,500
= JIsdgY 2H 368, 124 353,220 14,904
308 XHXIEHSOIA 368, 124 353,220 14,904
01 AIXSHMEMNEX= 368, 124 353,220 14,904
O4a &A1Y 8 JH3NE B3 50,820
O~ HAE HAEE Al 32,400
OYLE MY ALY 60,750
OeEA MY oA 25,440
O2F0HE 28 oA 38,124
OUs MY gAY 54,000
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